
MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

SURFACE AREA AND VOLUME

Solved Examples

1. Find the volume and total surface area of a

cuboid, whose length = 15 cm, breadth = 10 cm

and height = 8 cm.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SFeqaEbj42HL


Watch Video Solution

2. The total surface area of a cube is ,

find its volume.

Watch Video Solution

294cm2

3. The length, breadth and height of a cuboid

are in the ratio 6 : 5 : 3. If its total surface area

is , find its dimensions. Also find the

volume of the cuboid.

504cm2

https://dl.doubtnut.com/l/_SFeqaEbj42HL
https://dl.doubtnut.com/l/_VhFwagT69qVt
https://dl.doubtnut.com/l/_eoxkwevpCfFv


Watch Video Solution

4. Three equal
cubes are placed adjacently in a

row. Find the ratio of total surface area of
the

new cuboid to that of the sum of the surface

areas of the three cubes.

A. 

B. 

C. 

D. 

7: 9

7: 3

5: 9

1: 9

https://dl.doubtnut.com/l/_eoxkwevpCfFv
https://dl.doubtnut.com/l/_O2heuonc7vAs


Answer: A

Watch Video Solution

5. Find the volume of wood required for a

closed wooden box with external dimensions

, if the wood is 

thick.

Watch Video Solution

15cm × 12cm × 8cm 0.5cm

https://dl.doubtnut.com/l/_O2heuonc7vAs
https://dl.doubtnut.com/l/_NI7CcyUZ6na3


6. The length, breadth and height of a room

are  and  respectively. There are

two doors measuring  and four

windows measuring . Find the area

doors remaining walls.

Watch Video Solution

9m, 7m 4m

2m × 1.5m

1.5m × 1m

7. The length, breadth and height of a room

are 5 m, 4 m and 3 m respectively. Find the

https://dl.doubtnut.com/l/_VguJJwOALFAf
https://dl.doubtnut.com/l/_0aIKBBTx1sIR


cost of white washing the walls of the room

and the ceiling at the rate of 

Watch Video Solution

Rs 7. 50 per m2.

8. Shanti sweets stall was placing an order for

making cardboard boxes for packing their

sweets. Two sizes of boxes were required. The

bigger of dimensions 

and the smaller of dimensions

. For all the overlaps, 

25cm × 20cm × 5cm

15cm × 12cm × 5cm

https://dl.doubtnut.com/l/_0aIKBBTx1sIR
https://dl.doubtnut.com/l/_QfQNniNBNrcJ


 of the total surface area is required for

supplying  boxes of each kind.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5 %

250

2184

4980

1900

9100

https://dl.doubtnut.com/l/_QfQNniNBNrcJ


9. In a box whose dimensions are

, how long stick can be

placed ?

A.  cm

B.  cm

C.  cm

D.  cm

Answer: A

Watch Video Solution

12cm × 4cm × 3cm

13

14

15

16

https://dl.doubtnut.com/l/_twQpsCvXGLEK


10. Water flows in a tank 
 at the

base, through a pipe whose cross-section is


by 
at the speed of 

In what time, will the water be 
deep?

Watch Video Solution

150mx100m

3dm 1. 5dm 15kmperhour.

3metres

11. A godown measures

. Find the maximum

number of wooden crates each measuring

40 m  ×  25 m  ×  10 m

https://dl.doubtnut.com/l/_Mdg7PfONh0mW
https://dl.doubtnut.com/l/_gvY3C8r8oo4H


that can be

stored in the godown.

Watch Video Solution

1. 5 m  ×  1. 25 m  ×  0. 5 m

12. The sum of length, breadth and depth of a

cuboid is 12 cm and its diagonal is  cm.

Find its surface area.

Watch Video Solution

5√2

https://dl.doubtnut.com/l/_gvY3C8r8oo4H
https://dl.doubtnut.com/l/_twiu5AAR9gsd


13. The circumference of the base of a cylinder

is 130 cm andheight is 20 cm. Find its curved

surface area.

Watch Video Solution

14. Find the curved surface area of the cylinder

whose height is 20 cm and the radius of base

is 7 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_efzyErvzYQvu
https://dl.doubtnut.com/l/_7tdKwZP4eMji
https://dl.doubtnut.com/l/_tQd0CgEMuzHf


15. The area of the base of a right circular

cylinder is  and height is 3.5 cm. Find

its volume.

Watch Video Solution

42πcm2

16. The height and radius of the base of a right

circular cylinder is 'r'. Find its totalsurface area.

Watch Video Solution

https://dl.doubtnut.com/l/_tQd0CgEMuzHf
https://dl.doubtnut.com/l/_9cz0xp6qtbSy


17. The side of a paper of square shape is 44

cm. It is folding and convert into a cylinder.

Find the curved surface area and total surface

of the cylinder.

Watch Video Solution

18. The radius of base of a cylinder is 7 cm and

height is 10 cm. Find its curved surface area

and volume.

Watch Video Solution

https://dl.doubtnut.com/l/_2liuXD7h7MeU
https://dl.doubtnut.com/l/_LJxr9kYGCOIr


19. The area of base of a cylinder is 

and height is 30 cm. Find its volume and total

surface area.

Watch Video Solution

616cm2

20. The volume of a cylindrical tub is .

If the diameter of its base is 28 m, then find its

depth.

Watch Video Solution

6160m3

https://dl.doubtnut.com/l/_LJxr9kYGCOIr
https://dl.doubtnut.com/l/_2gYvYxmeHuMF
https://dl.doubtnut.com/l/_oEJRL6QPi21G


21. The curved surface of a right circular is

 and height is  Find its volume

and total surface area.

Watch Video Solution

4400cm2 50cm.

22. The total surface area of a cylinder is

. The height of cylinder is 4 times the

radius of the base. Find the height of the

cylinder.

Watch Video Solution

1540cm2

https://dl.doubtnut.com/l/_WUT3V7vfCXtO
https://dl.doubtnut.com/l/_2BT1x13ADYpn


23. The radius
 and height of a cylinder are in

the ratio 5 : 7 and its volume if 
 Find

its
radius. 

Watch Video Solution

550 cm3.

(Use π = )
22

7

24. The radius of right circular cylinder is 14

cm. If its total surface area is , then

find its height.

Watch Video Solution

3872cm2

https://dl.doubtnut.com/l/_2BT1x13ADYpn
https://dl.doubtnut.com/l/_nM1wztQgoRzr
https://dl.doubtnut.com/l/_zvcZ6MQwXgRw


25. A cylinder is formed by folding a square of

side 5 cm. Find its curved surface area and the

volume.

Watch Video Solution

26. A rectangular paper of  is

folded in two different ways and formed two

cylinders. 

(i) Find the ratio of the volumes of two

cylinders. 

22cm × 12cm

https://dl.doubtnut.com/l/_IFHUHwofyNLd
https://dl.doubtnut.com/l/_2dldTR3FVJfa


(ii) Find the difference of the volumes of two

cylinders.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6: 11

15: 11

6: 5

5: 11

https://dl.doubtnut.com/l/_2dldTR3FVJfa


27. The volume of a cylindrical vessel is

. Itscurved surface is . Find

its height and radius of base.

Watch Video Solution

27720cm3 2640cm2

28. The diameter of a roller is  and its

length is  It takes  complete

revolutions to move once over to level a

playground. Find the area of the playground in

.

84cm

120cm. 500

m2

https://dl.doubtnut.com/l/_KZIBe5SswRrM
https://dl.doubtnut.com/l/_h8i8c8lS5v8K


Watch Video Solution

29. There is some water in a cylindrical vessel

of diameter  . A solid cube of side 

is dropped into the water , which immersed

completely in the water . Find the increase in

the height of surface of water in the vessel.

A. 

B. 

C. 

D. 

11cm 5.5cm

1.25cm

1.5cm

1.75cm

2.00cm

https://dl.doubtnut.com/l/_h8i8c8lS5v8K
https://dl.doubtnut.com/l/_YijgRY6nu6NN


Answer: C

Watch Video Solution

30. The rain water from a roof af dimensions

 drains into a cylindrical vessel

having diameter of bases  and height

 If the rain water collected form the roof

just fill the cylindrical vessel, them find the

rainfall (in cm).

Watch Video Solution

22m × 20m

2m

3.5m.

https://dl.doubtnut.com/l/_YijgRY6nu6NN
https://dl.doubtnut.com/l/_1tNkIw5uLjk7


31. The diameter of a right circular cylinder is

increased by 20%. Find the percentage

decrease in its height if its volume remains

unchanged.

Watch Video Solution

32. A cylindrical well of radius 4m and depth

49 m is dug and the taken out is spread evenly

on a ground of length40 m and breadth 28 m.

If the volume of the earth taken out increases

https://dl.doubtnut.com/l/_QmlR6xjrjt5i
https://dl.doubtnut.com/l/_6zx2Z07jysV7


by 10%, find the increase in the height of the

ground.

Watch Video Solution

33. The external and internal radii of a hollow

cylinder are 5 cm and 4 cm respectively. If the

height of cylinder is 14 cm, then find its

internal volume and total surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_6zx2Z07jysV7
https://dl.doubtnut.com/l/_fzUPMhrassrj


34. The radius and height of a right circular

cone are 4 cm and 9 cm respectively. Its

volume will be : 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

36πcm3 48πcm3 72πcm3

100πcm3

35. The ratio of the slant height and radius of

the cone is 7 : 4. If itscurved surface area is

, then find its radius.550cm2

https://dl.doubtnut.com/l/_efX9RzBExYck
https://dl.doubtnut.com/l/_EB6EGqwGBebP


Watch Video Solution

36.  cloth is used in a conical tent. If its

slant height is 12 m, then find its height.

Watch Video Solution

264m2

37. The volume of a right circular cone is

 andheightis 21 cm. Find its curved

surface area.

Watch Video Solution

9702cm3

https://dl.doubtnut.com/l/_EB6EGqwGBebP
https://dl.doubtnut.com/l/_5JjdOzGhi2gZ
https://dl.doubtnut.com/l/_Vv0KAxuenqLF


38. Five persons can accommodate in a conical

tent. If each person required  square

decimetre place on wrath and  cubic

decimetre air for breathing, then find the

height of the cone.

Watch Video Solution

18

108

39. The slant height of a cone is  and its

total surface area is . Find its radius of

base.

13cm

90πcm2

https://dl.doubtnut.com/l/_zBPtisw63GgV
https://dl.doubtnut.com/l/_EK40FGyhdIqE


Watch Video Solution

40. The height and radius of a right circular

cone are increased by  and 

respectively. Find the ratio of the volume of

new cone and old cone.

Watch Video Solution

20 % 25 %

41. In a right angle, the sides conrtaining right

angles are 5 cm and 12 cm. It is rotated

aboutits hypotenuse taking it as axis. Find the

https://dl.doubtnut.com/l/_EK40FGyhdIqE
https://dl.doubtnut.com/l/_B88yluLTKZhq
https://dl.doubtnut.com/l/_2ihYJ1asQnng


total surface area and volume of formed

figure. 

Watch Video Solution

https://dl.doubtnut.com/l/_2ihYJ1asQnng


42. An open conical cup is formed from a thin

metallic semi-circular sheet of diameter 28 cm.

Find its volume.

Watch Video Solution

43. A conical tent is required to

accommodate157 persons, each person must

have  of space on the ground and  of

air to breath. Find the height of the tent, also

calculate the slant height.

2m2 15m3

https://dl.doubtnut.com/l/_Z0s0HVfDwonM
https://dl.doubtnut.com/l/_LMYOrhgbD64b


Watch Video Solution

44. The curved surface area of a cone of height

8 m is . Find the volume of cone.

Watch Video Solution

188.4m2

45. If 
 are respectively the height, the

curved surface
 and the volume of a cone,

prove that 

Watch Video Solution

h, c, V

3πV h3 − C 2h2 + 9V 2 = 0.

https://dl.doubtnut.com/l/_LMYOrhgbD64b
https://dl.doubtnut.com/l/_cKVlueRTaRYo
https://dl.doubtnut.com/l/_GVNopHouj83j


46. Find the length of canvas, 1.5m in width, is

required to make a conical tent 14 m in

diameter and 24 m in height. Given that

 of the canvas is used in folds and

stiching. Also, find the cost of canvas at the

rate of Rs. 28 per metre.

Watch Video Solution

8 %
1

3

47. The radius of a sphere is 3 cm. Its total

surface area will be : 

https://dl.doubtnut.com/l/_G5ws8EzTSx2S
https://dl.doubtnut.com/l/_mRUIzygLR8uC


(1)  (ii)  (iii)  (iv) 

Watch Video Solution

18πcm2 36πcm2 72πcm2

108πcm2

48. Find the volume and curved surface of a

sphere whose diameter is 6 cm.

Watch Video Solution

49. Find the volume of a spherewhose

diameter is 1 cm.

https://dl.doubtnut.com/l/_mRUIzygLR8uC
https://dl.doubtnut.com/l/_dFKKMNZE42He
https://dl.doubtnut.com/l/_vtJhcqvMrCty


Watch Video Solution

50. Find the total surface area of a hemisphere

whose radius is 1 cm.

Watch Video Solution

51. The diameter of a sphere is 10 cm. Find its

surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_vtJhcqvMrCty
https://dl.doubtnut.com/l/_MTZ9Ac5UUBoz
https://dl.doubtnut.com/l/_xpyXqHlA4nS3
https://dl.doubtnut.com/l/_fzDPQlaGN81Q


52. The surface area of a sphere is  .

Find its volume.

Watch Video Solution

100πcm2

53. If volumes of two spheres are in the ratio

64:27 then the ratio of their surface areas is

Watch Video Solution

https://dl.doubtnut.com/l/_fzDPQlaGN81Q
https://dl.doubtnut.com/l/_LoYh3Z88dGcH


54. The diameter and height of a right circular

cylinder are equal to the diameter of a sphere.

Find the ratio of volumes of cylinder and

sphere.

Watch Video Solution

55. Find the ratio of the surface of a sphere

and total surface area of a hemisphere.

Watch Video Solution

https://dl.doubtnut.com/l/_UGu31RsajRnf
https://dl.doubtnut.com/l/_UjxaNIay3j6d
https://dl.doubtnut.com/l/_xdThWklRppOR


56. A semi-circle of radius 17.5 cm is rotated

about its diameter. Find the curved surface of

so generated solid.

Watch Video Solution

57. Find the cost of painting at the rate of

 on the hemispherical dome of

diameter 10 m.

Watch Video Solution

Rs. 5.60perm2

https://dl.doubtnut.com/l/_xdThWklRppOR
https://dl.doubtnut.com/l/_d372MisYBnMi
https://dl.doubtnut.com/l/_RlyB8byNH31y


58. The sphere and cube have same surface.

Show that the ratio of the volume of sphere to

that of cube is 6 : 

Watch Video Solution

√ √π

59. The diameters of three solid balls of iron

are 6 cm, 8 cm and 10 cm. They are melted and

recast a solid ball. Find the diameter of this

ball.

Watch Video Solution

https://dl.doubtnut.com/l/_RlyB8byNH31y
https://dl.doubtnut.com/l/_YVo9pbXtZePV
https://dl.doubtnut.com/l/_HWJxAxGeBNsI


60. How many
balls, each of radius 1 cm, can be

made from a solid sphere of lead of radius
 8

cm?

Watch Video Solution

61. A sphere and a cube has same surface

area.Show that the ratio of the volume of

sphere to cube is 

Watch Video Solution

√6: √π

https://dl.doubtnut.com/l/_HWJxAxGeBNsI
https://dl.doubtnut.com/l/_1jfyPcMT6CPO
https://dl.doubtnut.com/l/_3x95c9EmwCfh


62. A conical vessel of radius 6 cm and height 8

cm is completely filled with water. a sphere is

lowered into the water and its size is such that

when it touches the the sides, it just

immersed. what fraction of water overflows.

Watch Video Solution

63. The diagram shows the cross-section of

eight identical iron balls touching each other

on a horizontal surface. 

 


https://dl.doubtnut.com/l/_3x95c9EmwCfh
https://dl.doubtnut.com/l/_AI3v3fFeWaJQ


Problems From Ncert Exemplar

If the volume of a ball is , then what

should be the minimum length and depth of a

box so that all the balls can be placed in it ?

Watch Video Solution

cm39π

2

1. The floor of a rectangular hall has a

perimeter 250 m. If the cost of painting the

four walls at the rate of is RsRs 10 per m2

https://dl.doubtnut.com/l/_AI3v3fFeWaJQ
https://dl.doubtnut.com/l/_xOCJKKwt3WXi


15000, find the height of the hall.[Hint : Area of

the four walls = Lateral surface area.]

Watch Video Solution

2. A cubical box has each edge 10
 cm and

another cuboidal box is 12.5 cm long, 10 cm

wide and 8 cm high.
 (i) Which box has the

greater
lateral surface area and by how much?

(ii) Which box has
 the smaller total surface

area and by how much?

Watch Video Solution

https://dl.doubtnut.com/l/_xOCJKKwt3WXi
https://dl.doubtnut.com/l/_0fmS5Mmmc0YZ


3. Shanti Sweet Stall was placing an order for

making carboard boxes for packing their

sweets. Two sizes of boxes were required. The

bigger of dimensions 

and the smaller of dimensions

. For all the overlaps, 5%

of the total surface area is required extra. If

the cost of the carboard is Rs. 4 for ,

find the cost of carboard required for

supplying 250 boxes of each kind.

Watch Video Solution

25cm × 20cm × 5cm

15cm × 12cm × 5cm

1000cm2

https://dl.doubtnut.com/l/_0fmS5Mmmc0YZ
https://dl.doubtnut.com/l/_mtzU9dvoOBfs


4. Parveen wanted to make a temporary

shelter for her car, by making a box-like

structure with tarpaulin that covers all the

four sides and the top of the car (with the

front face as a flap which can be rolled up).

Assuming that the stitching margin

Watch Video Solution

5. The diameter of a roller is 84 cm and its

length is 120 cm. It takes 500

https://dl.doubtnut.com/l/_mtzU9dvoOBfs
https://dl.doubtnut.com/l/_N9EPz1p2LVnJ
https://dl.doubtnut.com/l/_caO1nJRCAA99


completerevolutions to move once over to

level a playground. Find the area of the

playgroundin .

Watch Video Solution

m2

6. What length of tarpaulin 3m wide will be

required
to make a conical tent of height 8m

and base radius 6m? Assume that the extra

length of material will be required for

stitching margins and wastage in
 cutting is

approximately 20 cm (Use π = 3. 14)

https://dl.doubtnut.com/l/_caO1nJRCAA99
https://dl.doubtnut.com/l/_m2NR6mdmx7p1


Watch Video Solution

7. A bus stop is barricaded from the remaining

part of the road, by using 50 hollowcones

made of recycled cardboard. Each cone has a

base diameter of 40 cm and height1 m. If the

outer side of each of the cones is to be

painted and the cost of pain

Watch Video Solution

https://dl.doubtnut.com/l/_m2NR6mdmx7p1
https://dl.doubtnut.com/l/_xPRdhHiVnoAL


8. The diameter of the moon is approximately

one
fourth of the diameter of the earth. What

fraction of the volume of the earth
 is the

volume of the moon?

Watch Video Solution

9. A hemispherical bowl is made of steel, 0.25

cm thick.
 The inner radius of the bowl is
5 cm.

Find the outer curved surface area of the bowl.

Watch Video Solution

https://dl.doubtnut.com/l/_FEvAt7wiNAio
https://dl.doubtnut.com/l/_9mauaveY0tU2


10. A
 right circular cylinder just encloses a

sphere of radius r (see Fig.
 13.22). Find
 (i)

surface area of the sphere,
 (ii) curved surface

area of the cylinder,
 (iii) ratio of the areas

obtained in (i) and (ii).

Watch Video Solution

11. A village, having a population of 4000,

requires 150
litres of water per head per day. It

has a tank measuring

https://dl.doubtnut.com/l/_9mauaveY0tU2
https://dl.doubtnut.com/l/_cfIHCMTpHKlN
https://dl.doubtnut.com/l/_yOGRMUW77nui



 . For

how many
days will the water of this tank
last?

Watch Video Solution

20\ m\ × \ 15\ m\ × \ 6\ m

12. A river 3m
deep and 40m wide is flowing at

the rate of 2km per hour. How much water will

fall into the sea in a minute?

Watch Video Solution

https://dl.doubtnut.com/l/_yOGRMUW77nui
https://dl.doubtnut.com/l/_s4YkUO3gPC6m


13. A soft
 drink is available in two packs - (i) a

tin can
with a rectangular base of length 5cm

and width 4cm, having a height of 15cm and

(ii) a plastic cylinder
 with circular base of

diameter 7cm and height 10cm. Which

container has
 greater capacity and by how

much?

Watch Video Solution

https://dl.doubtnut.com/l/_Zc6JOWmhCKks


14. A lead pencil consists of a cylinder of wood

with a
 solid cylinder of graphite filled in the

interior. The diameter of the pencil
 is 7 mm

and the diameter of the graphite is 1 mm. If

the length of the pencil
 is 14 cm, find the

volume of the wood

Watch Video Solution

15. The diameter of the moon is approximately

one
fourth of the diameter of the earth. What

https://dl.doubtnut.com/l/_cgOc89MiUDev
https://dl.doubtnut.com/l/_TJppyl7WdURG


fraction of the volume of the earth
 is the

volume of the moon?

Watch Video Solution

16. How many litres of milk can a hemispherical

bowl of
diameter 10.5 cm hold?

Watch Video Solution

17. A hemispherical tank is made up of an iron

sheet 1 cm
thick. If the inner radius is 1 m,
then

https://dl.doubtnut.com/l/_TJppyl7WdURG
https://dl.doubtnut.com/l/_MIqyL2Bvw114
https://dl.doubtnut.com/l/_vJlx2AxIG76l


find the volume of the iron used to make the

tank

Watch Video Solution

18. A cone, a hemisphere and a cylinder stand

on equal
 bases and have the same height.

Show that their volumes are in the ratio
1:2:3.

Watch Video Solution

https://dl.doubtnut.com/l/_vJlx2AxIG76l
https://dl.doubtnut.com/l/_Y5JZompnyOzF


19. Find the amount of water displaced by a

solid spherical ball of diameter 4.2 cm , when it

is completely immersed in water.

Watch Video Solution

20. Tow solid spheres made of the same metal

have weight 5920 g and 740 g, resopectively.

Determine the radius of the radius of the

larger sphere, if the diameter of the smaller

one is 5 cm.

https://dl.doubtnut.com/l/_wHCN5t5j23g8
https://dl.doubtnut.com/l/_AYbVb1S0ZRrx


Watch Video Solution

21. A right triangle with sides 6 cm, 8 cm and

10 cm is revolved about the side 8 cm. Find the

volume and the curved surface of the solid so

formed.

Watch Video Solution

22. A semi-circular sheet of metal of diameter

28cm is
 bent into an open conical cup. Find

the depth and capacity of cup.

https://dl.doubtnut.com/l/_AYbVb1S0ZRrx
https://dl.doubtnut.com/l/_EynoH0gvXlid
https://dl.doubtnut.com/l/_GwZmy2shF37B


Watch Video Solution

23. A colth having an area of is shapped

into the form of a conical tent of radius 5 m. 

(i) How many students can sit in the tent, if a

student on an average occupies  on the

ground ? 

(ii) Find the volume of the cone.

Watch Video Solution

165m2

m25

7

https://dl.doubtnut.com/l/_GwZmy2shF37B
https://dl.doubtnut.com/l/_iz99fPU7U683


Exercise 13 A

24. 30 circular plantes, each of radius 14 cm

and thickness 3 cm are placed one above the

another to from a cylindrical solid . Find 

(i) the total surfce area. 

(ii) volume of the cylinder so formed.

Watch Video Solution

https://dl.doubtnut.com/l/_V1AkWUjfblk2


1. Find the volume and total surface area of a

cuboid whose length = 3.5 m, breadth = 2.6 m

and height = 0.9 m.

Watch Video Solution

2. The breadth and height of a rectangular

solid are 1.20 m and 0.80 m respectively. If the

volume of the cuboid is  , Find its

length.

Watch Video Solution

1.92m3

https://dl.doubtnut.com/l/_BVvzMOFSPw05
https://dl.doubtnut.com/l/_ZJ47X47F4jYh


3. The ratio of the length and breadth of a

cuboid is 5 : 3. If its height is 5 cm and volume

is , then find the length and breadth

of the cuboid.

Watch Video Solution

4800cm3

4. Three cubes
 each of side 5 cm are joined

end to end. Find the surface area of the

resulting cuboid.

Watch Video Solution

https://dl.doubtnut.com/l/_ZJ47X47F4jYh
https://dl.doubtnut.com/l/_YVVd3HB2RGIc
https://dl.doubtnut.com/l/_99RAw9Y30ptd


5. Three cubes each of volume  are

joined end to end. Find the surfece area of

resulting cuboid.

Watch Video Solution

125cm3

6. The length, breadth and height of a cuboid

are in the ratio 5 : 3 : 2. If its volume is ,

find its dimensions. Also find the total surface

area of the cuboid.

240cm3

https://dl.doubtnut.com/l/_99RAw9Y30ptd
https://dl.doubtnut.com/l/_gh3pBCqNVFAI
https://dl.doubtnut.com/l/_bHuYY46Dyuyn


Watch Video Solution

7. Find the volume and total surface area of a

cube whose each edge is 2 m 40 cm.

Watch Video Solution

8. The outer dimensions of a closed wooden

box are 22 cm, 15 cm and 10 cm. Thickness of

the wood is 1 cm. Find the cost of wood

required to make the box if  of wood

costs Rs. 1.50.

1cm3

https://dl.doubtnut.com/l/_bHuYY46Dyuyn
https://dl.doubtnut.com/l/_i3DJhdBwpMtH
https://dl.doubtnut.com/l/_W1U9UCrzL1LC


Watch Video Solution

9. The cost of papering the four walls of a

room at 75 paise per square metre is Rs. 240.

The height of the room is 5 metres. Find the

length and the breadth of the room if they are

in the ratio 5 : 3.

Watch Video Solution

https://dl.doubtnut.com/l/_W1U9UCrzL1LC
https://dl.doubtnut.com/l/_ENRKJ5KLlZjV


10. A closed rectangular box has length = 40

cm, breadth = 30 cm and height = 50 cm. It is

made of thin metal sheet. Find the cost of

metal sheet required to make 20 such boxes, if

 of metal sheet costs Rs.45.

Watch Video Solution

1m2

11. The length, breadth and height of a room

are 7.5 m, 4.5 m and 3.0 m respectively. There is

a door of measure  and also 22.0m × 1.0m

https://dl.doubtnut.com/l/_53tMwZDPp6aL
https://dl.doubtnut.com/l/_j4CjQEYyiT9p


windows each of measure 1.2 m and 0.75 m.

Find the cost of white washing its walls and

roof at the rate of Rs. 1.20 per square metre.

Watch Video Solution

12. The cost of papering the walls of a room 12

m long at the rate of Rs. 13.50 per square

metre is Rs. 3402 and the cost of matting the

floor at Rs. 9.50 per square metre is Rs. 1026.

Find the height of the room.

Watch Video Solution

https://dl.doubtnut.com/l/_j4CjQEYyiT9p
https://dl.doubtnut.com/l/_yKrAqtFJlkhK


13. Find the volume of wood required for a

closed wooden box with external dimensions

, if the wood is 0.5 cm

thick.

Watch Video Solution

15cm × 12cm × 8cm

14. Three cubes whose edges are 6 cm, 8 cm

and x cm, respectively are melted and recasted

into a single cube of edge 12 cm. Find x.

Watch Video Solution

https://dl.doubtnut.com/l/_yKrAqtFJlkhK
https://dl.doubtnut.com/l/_vEB3BUXAb45r
https://dl.doubtnut.com/l/_sNgcjn2Ktnje


15. Three cubes
 of metal whose edges are in

the ratio 3:4:5 are melted down into a single

cube whose diagonal is 
 . Find the

edges of three cubes.

Watch Video Solution

12√3 cm

16. How many cubes of edge 3 cm can be

formed from a wooden piece of dimensions

 ?36cm × 24cm × 18cm

https://dl.doubtnut.com/l/_sNgcjn2Ktnje
https://dl.doubtnut.com/l/_wur0zhFOf0BY
https://dl.doubtnut.com/l/_ndnwLlMeNTAc


Watch Video Solution

17. Find the number of bricks required to

construct a wall of dimensions

, if the dimension of a

brick is .

Watch Video Solution

3m × 1.5m × 0.4m

30cm × 15cm × 8cm

18. The external dimension of an open box are

. All of its walls are 2.540cm × 30cm × 35cm

https://dl.doubtnut.com/l/_ndnwLlMeNTAc
https://dl.doubtnut.com/l/_a66dPvnOq0Ya
https://dl.doubtnut.com/l/_53yiVmqXEH9j


cm thick, find (i) the capacity of the box, (ii) the

wood used in the box.

Watch Video Solution

19. The sum of length, breadth and heigth of a

cuboid is 30 cm and the length of its diagonal

is 22 cm. Find the surface area of the cuboid.

Watch Video Solution

https://dl.doubtnut.com/l/_53yiVmqXEH9j
https://dl.doubtnut.com/l/_dBCCwbyM0EfA


20. A wall of dimensions 

is to be constructed using bricks of

dimensions . Find

the number of bricks requires if 5% of the wall

is occupied by cement and mixture.

Watch Video Solution

24m × 5m × 0.25m

25cm × 12.5cm × 7.5cm

21. 50 student sit in a classroom. Each student

requires  area on floor and  air. If9m2 108m3

https://dl.doubtnut.com/l/_Lrr0gPScoT8m
https://dl.doubtnut.com/l/_CIxtTlymyQsK


the length of the room is 25 m, find its heigth

and breadth.

Watch Video Solution

22. A rectangular cardboard sheet has length

32 cm and breadth 26 cm. The four squares

each of side 3 cm are cut from the corners of

the sheet and the sides are folded to make a

rectanguler container. Find the capacity of the

container.

Watch Video Solution

https://dl.doubtnut.com/l/_CIxtTlymyQsK
https://dl.doubtnut.com/l/_kVDjAtAyzeXT


23. In a shower, 5 cm of rain falls. Find the

volume of water that falls on 2 heactares land

Watch Video Solution

24. A feild is 70 m long and 40 m broad. In one

corner of the field, a pit which is 10 m long, 8

m broad and 5 m deep, has been dug out. The

earth taken out of it is evenly spread over the

remaining part of the field. Find the rise in the

level of the field.

https://dl.doubtnut.com/l/_kVDjAtAyzeXT
https://dl.doubtnut.com/l/_jQTLs22KlbB5
https://dl.doubtnut.com/l/_FdFyYNW70zhB


Watch Video Solution

25. If 
 is the
 volume of a cuboid of

dimensions 
 is its
 surface area,

then prove that


Watch Video Solution

V

a,  b,  c and S

= ( + + )
1

V

2

S

1

a

1

b

1

c

26. The areas of three adjacent faces of a

cuboid are x, y and z. If the volume is V, prove

that .V 2 = xyz

https://dl.doubtnut.com/l/_FdFyYNW70zhB
https://dl.doubtnut.com/l/_5rrSO70DXuIb
https://dl.doubtnut.com/l/_lF1lAzc679Vv


Watch Video Solution

27. If each edge
of a cube is increased by 25%,

then the percentage increase in its surface

area is:
(a) 25% (b) 48.75% (c) 50% (d) 56.25%

Watch Video Solution

28. Find the percentage increase in the surface

area of a cube if each side is trebled.

Watch Video Solution

https://dl.doubtnut.com/l/_lF1lAzc679Vv
https://dl.doubtnut.com/l/_cHaU7iF8Gexi
https://dl.doubtnut.com/l/_wKnjC05ZREv2


29. A metallic
sheet is of the rectangular shape

with dimensions 
From each
one

of its corners, a square of 
 is cut off.
 An

open box is made of the remaining sheet. Find

the volume of the box.

Watch Video Solution

48cm x 36cm.

8cm

30. A tank measures 2 m in length, 1.6 m in

width and 1 m in depth. Water is there upto

0.4 m heigth. Bricks measuring

https://dl.doubtnut.com/l/_gSbQMLbP83Vh
https://dl.doubtnut.com/l/_PvtHsT3t58Nu


Exercise 13 B

 are put into tank so

that the water may come up to the top. Each

brick absorbs water equal to  of its own

volume. How many bricks will be needed ?

View Text Solution

25cm × 14cm × 10cm

th
1

7

1. A well of internal diameter 14 m and depth

14 m is dug and the earth taken out is spread

all around it upto 5 m width and form an

https://dl.doubtnut.com/l/_PvtHsT3t58Nu
https://dl.doubtnut.com/l/_Tf7bpnlWVm6L


embankment. Find the height of the

embankment.

View Text Solution

2. If the diameter of cross-section of a wire is

decreased by 5% how much
 percent will the

length be increased so that the volume

remains the same?

Watch Video Solution

https://dl.doubtnut.com/l/_Tf7bpnlWVm6L
https://dl.doubtnut.com/l/_1H1WqzAK1is0


Exercise 13 C

1. The area of base of a conical drum is 

and its height is 2.1 m. Find its volume.

Watch Video Solution

44m2

2. The height of a right circular cone is 6 cm

and area of its base is . Find its

volume.

Watch Video Solution

18.5cm2

https://dl.doubtnut.com/l/_cW2Oit4JaIPx
https://dl.doubtnut.com/l/_ZlGaCI6CQGWO


3. The volume of a right circular cone is 

and area of its base is . Find its height.

Watch Video Solution

74cm3

18.5cm2

4. (i) The area of base of a right circular cone is

 and its volume is . Find the

height of the cone.

Watch Video Solution

60cm2 200cm3

https://dl.doubtnut.com/l/_NY9VA13NHpgo
https://dl.doubtnut.com/l/_qOIPBGtUg7gx


5. The height of a cone is 7 cm and its radius

of base is 3 cm. Find its volume.

Watch Video Solution

6. The vertical height of a right circular cone is

9 cm and radius of its base is 4 cm. Find its

volume.

Watch Video Solution

https://dl.doubtnut.com/l/_HP2HmAcUYFdd
https://dl.doubtnut.com/l/_B5CWZmcFJUC2


7. The ratio of the volumes of two cones of

same base is 8 : 27. Find the ratio of their

heights.

Watch Video Solution

8. The radii of the bases of a right circular

cylinder and a right circular cone are equal.

Their vertical heights are 7 cm and 14 cm

respectively. Find the ratio of their volumes.

Watch Video Solution

https://dl.doubtnut.com/l/_MHQgauQKHBOB
https://dl.doubtnut.com/l/_BcykyuOFPlsf


9. The ratio of the heights of two cones of

same base is 4 : 3. If the volume of small cone

is , then find the volume of new cone.

Watch Video Solution

462πcm3

10. Find the ratio of the volume of a cone and

a cylinder of same radii and same heights.

Watch Video Solution

https://dl.doubtnut.com/l/_BcykyuOFPlsf
https://dl.doubtnut.com/l/_2XyanwZkMOgZ
https://dl.doubtnut.com/l/_SZuEKImHOCYQ
https://dl.doubtnut.com/l/_AEpg7Hmf3Ugw


11. The height of a right circular cone is 7 cm

and radius is 24 cm. Find the slant height of

the cone.

Watch Video Solution

12. The cap of a joker is conical in which

 cloth is used. Find its slant height if

the circumference of its base is 56 cm.

Watch Video Solution

840cm2

https://dl.doubtnut.com/l/_AEpg7Hmf3Ugw
https://dl.doubtnut.com/l/_5poRV2pkOLFx


13. The slant height of a cone is 10.5 cm and

diametre of base is 14 cm. Find its curved

surface area.

Watch Video Solution

14. The circumference of the base of a cone is

 and its vertical height is 5 cm. Find its

slant height.

Watch Video Solution

24πcm

https://dl.doubtnut.com/l/_qYiTIwYwmgma
https://dl.doubtnut.com/l/_xH1sXPA37hRc
https://dl.doubtnut.com/l/_lrCLpwxEYZBZ


15. The base radius and height of a conical

tent are 8 m and 15 m respectively. Find the

area of the cloth used in this tent.

Watch Video Solution

16. The base radius and slant height of a cone

are 8 cm and  respectively. Find the

volume of the cone.

Watch Video Solution

2√13cm

https://dl.doubtnut.com/l/_lrCLpwxEYZBZ
https://dl.doubtnut.com/l/_GCEnEtc824Tj
https://dl.doubtnut.com/l/_xMZSBOayy2o0


17. (i) The volume of a cone of height 24 cm is

. How many square metre of cloth is

required to cover this cone ? 

(ii) The volume and radius of base of a cone

are  and 21 cm respectively. Find its

slant height.

Watch Video Solution

392πcm3

9240cm3

18. The height and slant height of a cone are

12 cm and 13 cm respectively. Find its volume.

Watch Video Solution

https://dl.doubtnut.com/l/_xMZSBOayy2o0
https://dl.doubtnut.com/l/_gwruDkopw5yI


19. The base area and height of a right circular

conical tent are  and 4 m respectively.

Find the area of cloth used in the tent.

View Text Solution

154m2

20. The cloth used in a conical tent is 330

square metre. Find its vertical height if its

slant height is 15 m.

View Text Solution

https://dl.doubtnut.com/l/_gwruDkopw5yI
https://dl.doubtnut.com/l/_0gKmnJomNA5Z
https://dl.doubtnut.com/l/_OIbDuVUsOlA3


21. The height and curved surface of a right

circular cone are 24 cm and . Find the

volume of this cone.

View Text Solution

550cm2

22. The base radius and total surface area of a

cone are 7 cm and . Find its slant

height.

View Text Solution

704cm2

https://dl.doubtnut.com/l/_sahjOsridEl8
https://dl.doubtnut.com/l/_exY2q7Gu8cmx
https://dl.doubtnut.com/l/_LQDdIZ7qc2bZ


23. The circumference of the base of a conical

tent is 44 m and its height is 24 m. Find the

area of cloth used in this tent.

View Text Solution

24. Find the volume of that largest cone that

can be cut from a cube of edge 14 cm.

View Text Solution

https://dl.doubtnut.com/l/_LQDdIZ7qc2bZ
https://dl.doubtnut.com/l/_VUxEJMgWSGfF


25. Find the volume of that largest cone that

can be cut from a cube of edge 8 cm.

View Text Solution

26. The base area and volume of a conical tent

are  and . Find the area of cloth

used in this tent.

View Text Solution

154m2 1232m3

https://dl.doubtnut.com/l/_VStB2Tuq0HHk
https://dl.doubtnut.com/l/_TTRy0Hy7t6DP


27. The volume of a cone is . Find its

height if height and diameter of base are

same.

View Text Solution

18πcm3

28. Five person can accommodate in a conical

tent. If each person requires  are on

floor and  air for breathe, then find the

height of the tent.

View Text Solution

16dm2

100dm3

https://dl.doubtnut.com/l/_wVKRsNRz7lAT
https://dl.doubtnut.com/l/_N7tsZqYxSiAe


29. The ratio of the base radius and height of a

cone is 5 : 12. Find its slant height and radius if

its volume is .

View Text Solution

800πm3

30. The ratio of the base radius and height of

a cone is 5 : 12. Its volume is . Find its

radius, height and slant height. Given that

.

View Text Solution

314m3

π = 3.14

https://dl.doubtnut.com/l/_N7tsZqYxSiAe
https://dl.doubtnut.com/l/_SiMt8gZh7JYw
https://dl.doubtnut.com/l/_uSYm0tHdHPDm


31. The ratio of the base radius and height of a

cone is 3 : 4. Its volume is . Find its

curved surface area. Given that .

View Text Solution

301.44cm3

π = 3.14

32. Find the total surface area of a right

circular cone whose slant height is 25 cm and

area of base is .

View Text Solution

154cm2

https://dl.doubtnut.com/l/_uSYm0tHdHPDm
https://dl.doubtnut.com/l/_J2tYVlTq34Nu
https://dl.doubtnut.com/l/_5MBWw9RpnkOj


33. The sides forming right angle of a right

angled triangle are 15 cm and 8 cm. It is

rotated about its hypotenuse. Find the volume

and total surface area of the formed solid.

View Text Solution

34. The sides containing right angles of a right

angled triangle are 8 cm and 6 cm. It is rotated

about its hypotenus. Find the volume and

total surface area of the formed solid.

https://dl.doubtnut.com/l/_5MBWw9RpnkOj
https://dl.doubtnut.com/l/_tBV07YHP0fLv
https://dl.doubtnut.com/l/_6ZsW0YA1Cdwz


Exercise 13 D

View Text Solution

1. Find the volume of the sphere whose radius

is : 

(a) 2 cm 

(b) 3 cm 

(c ) 1 cm

Watch Video Solution

https://dl.doubtnut.com/l/_6ZsW0YA1Cdwz
https://dl.doubtnut.com/l/_MbTba9plfVC4
https://dl.doubtnut.com/l/_ZawCKGZrpTO8


2. Find the volume of the sphere whose

diameter is : 

(a) 7 cm 

(b ) 1 cm

Watch Video Solution

3. Find the surface area of the sphere whose

diameter is : 

(a) 14 cm 

(b) 10 cm 

(c ) 2 cm

https://dl.doubtnut.com/l/_ZawCKGZrpTO8
https://dl.doubtnut.com/l/_4ws7YJsUO7OS


Watch Video Solution

4. Find the surface area of the sphere whose

radius is : 

(a) 7 cm 

(b) 3.5 cm 

(c ) 1 cm

Watch Video Solution

https://dl.doubtnut.com/l/_4ws7YJsUO7OS
https://dl.doubtnut.com/l/_nC1uHM8o1bYp


5. Find the total surface area of the

hemisphere whose radius is : 

(a) 14 cm 

(b) 5 cm

Watch Video Solution

6. The ratio of the radii of two spheres is 1 : 3.

Find the ratio of their volume.

Watch Video Solution

https://dl.doubtnut.com/l/_YxT6W260mwW5
https://dl.doubtnut.com/l/_vAyilicLEaCF
https://dl.doubtnut.com/l/_Gh40bihtsv71


7. If the radius of one sphere is twice the

radius of second sphere, then find the ratio of

their volumes.

Watch Video Solution

8. If the ratio of the volumes of two spheres is

1 : 8, then find the ratio of their radii.

Watch Video Solution

https://dl.doubtnut.com/l/_Gh40bihtsv71
https://dl.doubtnut.com/l/_YX3aFK6i6QOC


9. The ratio of the volumes of two spheres is

64 : 27. Find the ratio of their radii. Also find

the ratio of their surfaces.

Watch Video Solution

10. (i) The numberical value of the volume and

surface of a sphere are equal. Find the

diameter of the sphere. 

(ii) The curved surved surface of a sphere is

https://dl.doubtnut.com/l/_MztFT7XSFYnT
https://dl.doubtnut.com/l/_HhK7wGVno9OG


equal to the area of a circle of radius 2.8 cm.

Find the volume of the sphere.

Watch Video Solution

11. The ratio of the surfaces of two spheres is 2

: 3. Find the ratio of their volumes.

Watch Video Solution

12. If the radius a sphere becomes double,

then find the percentage increase in the

https://dl.doubtnut.com/l/_HhK7wGVno9OG
https://dl.doubtnut.com/l/_VbfLZB6HjOT6
https://dl.doubtnut.com/l/_04AqMyYn9A2l


surface.

Watch Video Solution

13. The volume of a sphere is . Find its

total surface.

Watch Video Solution

cm3704
21

14. The volume of a sphere is . Find

its total surface.

Watch Video Solution

179 cm32

3

https://dl.doubtnut.com/l/_04AqMyYn9A2l
https://dl.doubtnut.com/l/_jpjtfA8sTNla
https://dl.doubtnut.com/l/_JT2XnDlCFnHb


15. (a) The total surface of a sphere is 

. Find the radius of the sphere. 

(b) The total surface of a sphere is .

Find the volume and diameter of the sphere. 

(c ) The total surface of a sphere is .

Find the diameter of the sphere. 

(d) The total surface of a sphere is .

Find the volume of the sphere.

View Text Solution

676πcm2

4πcm2

1386cm2

3600πcm2

https://dl.doubtnut.com/l/_JT2XnDlCFnHb
https://dl.doubtnut.com/l/_3MuaW3sWZdDA
https://dl.doubtnut.com/l/_GsKmv9Ggga5j


16. Find the ratio of the total surface area of a

sphere and a hemisphere of same radius.

Watch Video Solution

17. Three metallic spherical balls of radii 3 cm,

4 cm and 5 cm are melted and recast into a

big spherical ball. Find the radius of this big

ball.

Watch Video Solution

https://dl.doubtnut.com/l/_GsKmv9Ggga5j
https://dl.doubtnut.com/l/_7Xshe7kOEShj


18. Three metallic spheres are melted and

recast into a big solid sphere. Find the radius

of big solid sphere if the diameter of three

metallic spheres are 16 cm, 12 cm and 2 cm.

Watch Video Solution

19. How many balls of radius 1 cm can be

drawn by melting a metallic sphere of radius 3

cm?

Watch Video Solution

https://dl.doubtnut.com/l/_RZiJRGPiFS3r
https://dl.doubtnut.com/l/_zdcAe7dnvJe2


Revision Exercise Very Short Answer Questions

20. The small spherical balls of diameter 0.6

cm are drawn by melting a solid metallic

sphere of 3 cm radius. Find the number of

small balls constructed.

Watch Video Solution

1. Find the volume of a cuboid which is 15 m

long, 12 m wide and  high.4.5m

https://dl.doubtnut.com/l/_zdcAe7dnvJe2
https://dl.doubtnut.com/l/_N99pfReQbu6v
https://dl.doubtnut.com/l/_YxPw8E1eWKf6


Watch Video Solution

2. Find the total surface area of a cube whose

edge measure 20 cm.

Watch Video Solution

3. Find the lateral surface area of a cuboid

whose dimensions are .

Watch Video Solution

24m × 25cm × 6m

https://dl.doubtnut.com/l/_YxPw8E1eWKf6
https://dl.doubtnut.com/l/_0CXoRI8RWN8i
https://dl.doubtnut.com/l/_N8i9QnjTDRYk
https://dl.doubtnut.com/l/_wMyGntDr77Ka


4. A cubical box has each edge 10 cm. Find the

length of longest rod which can be put into

the box.

Watch Video Solution

5. Find the area of four walls of a room whose

length is 6 m, breadth is 5 m and heigth is 4 m.

Watch Video Solution

https://dl.doubtnut.com/l/_wMyGntDr77Ka
https://dl.doubtnut.com/l/_iATHTEeLtr2v


6. The length of each edge of a rectangular

box is l cm. Find its total surface area.

Watch Video Solution

7. The radius of a cylinder is r and heigth is h.

Find its volume.

Watch Video Solution

https://dl.doubtnut.com/l/_UQyhhV7aDTx0
https://dl.doubtnut.com/l/_qS2jrNTTBk5P


8. The radius of the base of a cylinder is 14 cm

and heigth is 10 cm. Find its volume.

Watch Video Solution

9. The circumference of the base of a cylinder

is 44 cm. Find its diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_sx6vTwBLbSRZ
https://dl.doubtnut.com/l/_Xrq5WJ5e2AyV


10. The dimaeter of the base of a cylinder is 7

cm and height is 5 cm. Find its curved surface

area.

Watch Video Solution

11. The radius of base of a cone is r and height

is h. Find its volume.

Watch Video Solution

https://dl.doubtnut.com/l/_xSc0nIvYRWEC
https://dl.doubtnut.com/l/_d4msYxatY85S


12. The diameter of the base of a cone is 6 cm

and height is 4 cm. Find its curved surface

area.

Watch Video Solution

13. The height of a cone is 24 cm and radius of

base is 7 cm. Find its salant height.

Watch Video Solution

https://dl.doubtnut.com/l/_bZHbwH5vNksn
https://dl.doubtnut.com/l/_pSfIONJTQoIJ


14. Find the volume of a sphere of radis r.

Watch Video Solution

15. The radius of a sphere is . Find its

curved surface area.

Watch Video Solution

√7cm

16. The diameter of a sphere is . Find its

curved surface area.

2√3cm

https://dl.doubtnut.com/l/_F59psNSgZOWz
https://dl.doubtnut.com/l/_noOk1zFiH4TK
https://dl.doubtnut.com/l/_dgwsMVqZkSjB


Revision Exercise Short Answer Questions

Watch Video Solution

17. The diameter of a sphere is 1 cm. Find its

volume.

Watch Video Solution

1. The curved surface area of a cylinder is twice

the sum of areas of its two end surfaces. Find

https://dl.doubtnut.com/l/_dgwsMVqZkSjB
https://dl.doubtnut.com/l/_ueDEB4r4JYkN
https://dl.doubtnut.com/l/_uy9iCJppwmSn


the ratio of its heigth and radius.

Watch Video Solution

2. The ratio of the radii of two cylinder is 1:2

and the ratio of their heigths is 2:1. Find the

ratio of their volumes.

Watch Video Solution

3. The diameter of a roller is 2.4 m and its

length is 1.68 m. If its rotates 1000 time to

https://dl.doubtnut.com/l/_uy9iCJppwmSn
https://dl.doubtnut.com/l/_jthddcE78fC3
https://dl.doubtnut.com/l/_xUIfXMgAUrUZ


level a ground. Find the area of the ground.

Watch Video Solution

4. The total surface area of a rigth circular

cylinder is . If the radius of its base is

5 cm, find its heigth and volume.

Watch Video Solution

165πcm2

5. The total surface area of a solid cylinder is

. If the ratio between its curved surface616cm2

https://dl.doubtnut.com/l/_xUIfXMgAUrUZ
https://dl.doubtnut.com/l/_fM42wBDY3CyG
https://dl.doubtnut.com/l/_KffR1Q0SV4Y4


area and total surface area is 1:2, find the

volume of the cylinder.

Watch Video Solution

6. Each face of a cube has perimeter equal to

32 cm. Find its surface area and volume.

Watch Video Solution

7. A school auditorium is 40 m long, 30 m

broad and 12 m high. If each student requires

https://dl.doubtnut.com/l/_KffR1Q0SV4Y4
https://dl.doubtnut.com/l/_jAXBdTUEcLRM
https://dl.doubtnut.com/l/_coA3Jwr1HPLX


 of the floor area, find the maximum

number of students who can be

accommodated in this auditorium.

Watch Video Solution

1.2m2

8. The internal dimensions of a rectangular

box are . If the length of

longest rod that can be placed in this box is 17

cm, find x.

Watch Video Solution

12cm × xcm × 9cm

https://dl.doubtnut.com/l/_coA3Jwr1HPLX
https://dl.doubtnut.com/l/_RLCXimFeFiM8
https://dl.doubtnut.com/l/_ew5ERPUQuGNl


9. The ratio of the radii of two cones is 1:2 and

the ratio of their heigths is 2:1. Find the ratio

of their volumes.

Watch Video Solution

10. Find the volume, curved surface area and

the total surface area of a cone having base

radius 35 cm and height 84 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_ew5ERPUQuGNl
https://dl.doubtnut.com/l/_OoNl3pEXeKaE
https://dl.doubtnut.com/l/_To3ZRtzt1bZr


11. Find the volume of a cone having radius of

the base 35 cm and slant height 37 cm.

Watch Video Solution

12. Find the volume and surface area of a

sphere of radius 21 cm.

Watch Video Solution

13. The internal and external diameters of a

hollow hemi spherical vessel are 20 cm and 28

https://dl.doubtnut.com/l/_To3ZRtzt1bZr
https://dl.doubtnut.com/l/_iKraQIVNOtHQ
https://dl.doubtnut.com/l/_fIWmJYYwPTDS


cm, respectively. Find the cost of painting the

vessel at the rate of 14 paise per .

Watch Video Solution

cm2

14. A hemispherical bowl is made of steel, 0.5

cm thick. The inside radius of the bowl is 4 cm.

Find the volume of steel used in making the

bowl.

Watch Video Solution

https://dl.doubtnut.com/l/_fIWmJYYwPTDS
https://dl.doubtnut.com/l/_5aevBaByRZCY


Revision Exercise Long Answer Questions

1. How many cubic metres of earth must be

dug out to sink a well 14 m deep and having a

radius of 4 m. If the earth taken out is spread

over a plot of dimension . What

is the height of the plateform so formed?

Watch Video Solution

(25m × 16m)

2. Water flows at the rate of 10 m/min from a

cylindrical pipe 5 mm in diameter. How long

https://dl.doubtnut.com/l/_x3vltPAc0WXJ
https://dl.doubtnut.com/l/_9KtKiyWQdcBf


will it take to fill up a conical vessel whose

diameter at the base is 40 cm and depth is 24

cm?

Watch Video Solution

3. A copper wire of diameter 6 mm is evenly

wrapped on a cylinder of length of length 15

cm and diameter 49 cm to cover its volume

surface. Find the length and volume of wire. If

the specific gravity of copper be 9g per cubic

cm. Find the weigth of the wire.

https://dl.doubtnut.com/l/_9KtKiyWQdcBf
https://dl.doubtnut.com/l/_BJqQOInkbVxS


View Text Solution

4. A cylindrical tub of radius 12 cm contains

water to a depth of 20 cm. A spherial iron ball

is dropped into the tub and thus the level of

water is raised by 6.75 cm. What is the radius

of the ball?

View Text Solution

5. A hollow spherical shell is made of a metal

of density . If its internal and4.5gpercm3

https://dl.doubtnut.com/l/_BJqQOInkbVxS
https://dl.doubtnut.com/l/_o1uv4KNQIuYP
https://dl.doubtnut.com/l/_UUglUkvLlznx


external radii are 8 cm and 9 cm, respectively

find the weigth of the shell.

View Text Solution

6. A cylindrical metallic pipe is 14 cm long. The

difference between the outside and inside

surface is . If the pipe is made up of 99

cubic cm of metal, find the outer and inner

radii of the pipe.

Watch Video Solution

44cm2

https://dl.doubtnut.com/l/_UUglUkvLlznx
https://dl.doubtnut.com/l/_kZpWrPPrf2YG
https://dl.doubtnut.com/l/_hQkyy7hGmdCH


7. From the four corners of a rectangular

cardboard  square pieces of size

3 cm are cut and the remaining cardboard is

used to form an open box. Find the capacity of

the box formed.

Watch Video Solution

38cm × 26cm

8. A rectangular container whose base is a

square of side 12 cm, contains sufficient water

to submerge a rectangular solid

. Find the rise in level of8cm × 6cm × 3cm

https://dl.doubtnut.com/l/_hQkyy7hGmdCH
https://dl.doubtnut.com/l/_IFzA5H2llLA4


the water in the container when the solid is in

it.

Watch Video Solution

9. A find is 15 m long and 12 m broad. At one

corner of this field a rectangular pit of

dimensions  is dug and the

dug out soil is spread evenly over the rest of

the field. Find the rise in the level of the rest of

the field.

Watch Video Solution

8m × 2, 5m × 2m

https://dl.doubtnut.com/l/_IFzA5H2llLA4
https://dl.doubtnut.com/l/_zA9FG5TUo6sJ


10. A certain quantity of wood costs

. A solid cubical block of such

wood is bougth for  Calculate the

volume of the block and edge of the cube.

View Text Solution

Rs. 250per m3

Rs. 182.25.

https://dl.doubtnut.com/l/_zA9FG5TUo6sJ
https://dl.doubtnut.com/l/_qbuLtbT85f8k

